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(i) Name the group of islands lying in the Arabian sea ?
(i) Name the countries whish are larget than India ?

(iii) Which island group of India lies to its south-east ?
(iv) Which island countries are our southern neighbours?
Solution:

(i) Lakshadweep islands.

(i) Russia, Canada , USA, China, Brazil and Australia.
(iif) Andaman and Nicobar islands.

(iv) Srilanka and Maldives

The sun rises two hours earlier in Arunachal Pradesh as compared to Gujarat in the west but the watches
show the same time. How does this happen?

Solution:

The latitudinal and longitudinal extent of the mainland is about 30°. Despite this fact, the east-west extent
appears to be smaller than the north-south extent. From Gujarat to Arunachal Pradesh there is a time lag
of two hours. Hence, time along the Standard Meridian of India (82°30’E) passing through Mirzapur (in
Uttar Pradesh) is taken as the standard time for the whole country. The latitudinal extent influences the
duration of the day and night, as one moves from south to north.

The central location of India at the head of the Indian Ocean is considered of great significance. Why?
Solution:

The trans Indian Ocean routes which connect the countries of Europe in the West and the countries of East
Asia provide a strategic central location to India.
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What are Tectonic Plates?

Solution:

The crust (upper part) of the earth has been formed out of seven major and some minor plates. These are
called tectonic plates.

A Tectonic plate (also called lithospheric plate) is a massive, irregularly shaped slab of solid rock, generally
composed of both continental and oceanic lithosphere. Plate size can vary greatly, from a few hundred to
thousands of kilometers across; the Pacific and Antarctic Plates are among the largest. Plate thickness
also varies greatly, ranging from less than 15 km for young oceanic lithosphere to about 200 km or more
for ancient continental lithosphere.

Which continents of today were part of the Gondwana land?

Solution:

The oldest landmass, (the Peninsula part), was a part of the Gondwana land. The Gondwana land included
India, Australia, South Africa and South America as one single land mass.

What is the bhabar?

Solution:

The rivers, after descending from the mountains deposit pebbles in a narrow belt of about 8 to 16 km in
width lying parallel to the slopes of the Shiwaliks. It is known as bhabar.

Distinguish Between Converging and Diverging Tectonic Plates
Solution:

Converging Tectonic Plates

Some plates come towards each other and form convergent boundary.
Diverging Tectonic Plates

Some plates move away from each other and form divergent boundary.

Distinguish Between Bhangar and Khadar

Solution:

Bhangar:

The largest part of the northern plain is formed of older alluvium They lie above the flood plains of the
rivers and present a terrace like feature. This part is known as bhangar.

Khadar:

The soll in this region contains calcareous deposites locally known as kankar. The newer, younger
deposits of the flood plains are called khadar. They are renewed almost every year and so are fertile, thus,
ideal for intensive agriculture.

Distinguish Between Western Ghats and Eastern Ghats



Solution:

Western Ghats:

The Western Ghats are higher than the Eastern Ghats. Their average elevation is 900— 1600 metres as
against 600 metres of the Eastern Ghats. The Western Ghats cause orographic rain by facing the rain
bearing moist winds to rise along the western slopes of the Ghats. The Western Ghats are known by
different local names. The height of the Western Ghats progressively increases from north to south. The
highest peaks include the Anai Mudi (2,695metres) and the Doda Betta (2,637 metres).

Eastern Ghats:

The Eastern Ghats stretch from the Mahanadi Valley to the Nigiris in the south. The Eastern Ghats are
discontinuous and irregular and dissected by rivers draining into the Bay of Bengal. Mahendragiri (1,501
metres) is the highest peak in the Eastern Ghats. Shevroy Hills and the Javadi Hills are located to the
southeast of the Eastern Ghats.

Describe how the Himalayas were formed.

Solution:

The Himalayas and the Northern Plains are the most recent landforms. From the viewpoint of geology,
Himalayan Mountains form an unstable zone. The whole mountain system of Himalaya represents a very
youthful topography with high peaks, deep valleys and fast flowing rivers. The northern plains are formed
of alluvial deposits. The peninsular plateau is composed of igneous and metamorphic rocks with gently
rising hills and wide valleys.

Which are the major physiographic divisions of India? Contrast the relief of the Himalayan region with that
of the Peninsular plateau.

Solution:

The physical features of India can be grouped under the following physiographic divisions:

(i) The Himalayan Mountains

(i) The Northern Plains

(iii) The Peninsular Plateau

(iv) The Indian Desert

(v) The Coastal Plains

(vi) The Islands

The Himalaya consists of three parallel ranges in its longitudinal extent. A number of valleys lie between
these ranges. The northern most range is known as the Great or Inner Himalayas or the ‘Himadri’. It is the
most continuous range consisting of the loftiest peaks with an average height of 6,000 metres. It contains
all the prominent Himalayan peaks.

The Deccan Plateau is a triangular landmass that lies to the south of the river Narmada. The Satpura
range flanks its broad base in the north while the Mahadev, the Kaimur hills and the Maikal range form its
eastern extensions. Locate these hills and ranges in the physical map of India. The Deccan Plateau is
higher in the west and slopes gently eastwards. An extension of the Plateau is also visible in the
northeast— locally known as the Meghalaya and Karbi-Anglong Plateau. It is separated by a fault from the
Chotanagpur Plateau. Three Prominent hill ranges from the west to east are the Garo, the Khasi and the
Jaintia Hills.

Give an account of the Northern Plains of India.

Solution:

The northern plain has been formed by the interplay of the three major river systems, namely- the Indus,
the Ganga and the Brahmaputra along with their tributaries. This plain is formed of alluvial soil. The
deposition of alluvium in a vast basin lying at the foothills of the Himalaya over millions of years, formed
this fertile plain. It spreads over an area of 7 lakh sg. km. The plain being about 2400 Km long and 240 to
320 Km broad is a densely populated physiographic division. With a rich soil cover combined with



adequate water supply and favourable climate it is agriculturally a very productive part of India. The rivers
in their lower course split into numerous channels due to the deposition of silt. These channels are known
as distributaries. The Northern Plain is broadly divided into three sections. The Western part of the
Northern Plain is referred to as the Punjab Plains. Formed by the Indus and its tributaries, the larger part of
this plain lies in Pakistan. The Indus and its tributaries—the Jhelum, the Chenab, the Ravi, the Beas and the
Satluj originate in the Himalaya. This section of the plain is dominated by the doabs.

Write short notes on the following.(i) The Indian Desert, (ii) The Central Highlands

(iii) The Island Groups of India

Solution:

(i) The Indian Desert

The Indian desest lies towards the western margins of the Aravali Hills. It is an undulating sandy plain
covered with sand dunes. This region receives very low rainfall below 150 mm per year. It has arid climate
with low vegetatin cover. Streams appear during the rainy season. Soon after they disappear into the sand
as they do not have enough water to reach the sea. Luni is the only large river in this region. Barchans
(crescent shaped dunes) cover larger areas but longitudinal dunes become more promiment near the Indo-
Pakistan boundary.

(i) The Central Highlands

The Peninsular plateau consists of two broad divisions, namely, the Central Highlands and the Deccan
Plateau. The part of the Peninsular plateau lying to the north of the Narmada river covering a major area of
the Malwa plateau is known as the Central Highlands. The Vindhyan range is bounded by the Central
Highlands on the south and the Aravalis on the northwest. The further westward extension gradually
merges with the sandy and rocky desert of Rajasthan.

The flow of the rivers draining this region, namely the Chambal, the Sind, the Betwa and Ken is from
southwest to northeast, thus indicating the slope. The Central Highlands are wider in the west but narrower
in the east. The eastward extensions of this plateau are locally known as the Bundelkhand and
Baghelkhand. The Chotanagpur plateau marks the further eastward extension, drained by the Damodar
river.

(iii) The Island Groups of India

This group of islands is composed of small coral islands. Earlier they were known as Laccadive, Minicoy
and Amindive. In 1973 these were named as Lakshadweep. It covers small area of 32 sq km. Kavaratti
island is the administrative headquarters of Lakshadweep.

This island group has great diversity of flora and fauna. The Pitli Island, which is uninhabited, has a bird
sanctuary. An elongated chain of islands located in the Bay of Bengal extending from north to south. These
are Andaman and Nicobar islands. They are bigger in size and are more numerous and scattered. The
entire group of islands is divided into two broad categories — The Andaman in the north and the Nicobar in
the south. It is believed that these islands are an elevated portion of submarine mountains. These island
groups are of great starategic importance for the country. There is great diversity of flora and fauna in this
group of islands too. These islands lie close to the equator and experience equatorial climate and has thick
forest cover.
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What is meant by water divide? Give an example.

Solution:

Any elevated area, such as a mountain or upland, separates two drainage basins. Such upland is
known as water divide. Ambala is located on the water divide between th Indus and the Ganga river
systems.

Which is the largest river basin in India?

Solution:

The Ganga basin is the largest basin in India.

Where do the rivers Indus and Ganga have their origin?

Solution:

The headwaters of the Ganga, called the ‘Bhagirathi’ is fed by the Gangotri Glacier and joined by
the Alaknanda at Devaprayag in Uttaranchal. At Haridwar the Ganga emerges from the mountains
on to the plains. The Indus flows through Baltistan and Gilgit and emerges from the mountains at
Attock.

Name the two headstreams of the Ganga. Where do they meet to form the Ganga?

Solution:

Alakananda and Bhagirathi are the two head streams of the Ganga. They meet at Devaprayag.

Why does the Brahmaputra in its Tibetan part have less silt, despite a longer course?

Solution:

The Brahmaputra river, which is known as Tsangpo in Tibet, receives very little volume of water in

Tibet so it has less silt there. On the other hand, this very river when enters India it passes through
such a region which receives heavy rainfall. As such in India, it carries a large volume of water and
larger amount of silt.

Which two Peninsular rivers flow through trough?

Solution:

Narmada and Tapi are the two Peninsular rivers, which flow through trough.



Discuss the significant difference between the Himalayan and the Peninsular rivers.

Solution:

The Himalayan RiversThe Peninsular or Deccan Rivers

1. The Himalayan rivers rise in the snow-covered mountains as such they flow throughout the
year.The mountains in which the Deccan rivers rise are not snow-covered. Hence they dry up in
summer.

2. The Himalayan rivers flow in levelled Northern Plains. Therefore, they are quite useful for
navigation and irrigation.The Peninsular rivers flow on uneven rocky surface. Therefore they are
neither navigable nor useful for irrigation.

3. The Himalayan rivers bring with them fertile alluvium which they deposit in the Indo-Gangetic
Plains.The Peninsular rivers do not bring with them enough alluvium. As the current is swift so the
deposition activity is negligible.

4. Canals have been dug to use the water of these rivers for irrigation.As the terrain is rocky and
the banks of these rivers are high, canals cannot be dug. However, dams are built to store the flood
water for irrigation with the help of small channels.

5. Many important towns and centres of trade are situated on the banks of these rivers.Very few
important towns and centres of trade are situated on the banks of these rivers.

6. The porous soil absorbs a lot of water, which is later on used as ground water by digging wells
and tubewells for domestic and irrigation purposes.The rocky soil does not absorb any water.
Hence no wells can be dug. All the water flows down the sea at one and the same time.

Compare the east flowing and the west flowing rivers of the Peninsular plateau.

Solution:

East Flowing Rivers

1.The Mahanadi, the Godavari, the Krishna and the Kaveri are the main east flowing rivers of
Peninsular India.These rivers drain in the Bay of Bengal.These rivers make deltas at their mouth
West Flowing Rivers.These rivers have a developed tributary system. Their tributaries are
comparatively large in size.These rivers flow through not very deep channels.

1. The Narmada and the Tapi are the main west flowing rivers of Peninsular India.These rivers drain
in the Arabian Sea.These rivers enter the sea through estuaries.These rivers are devoid of
developed tributary system. Their tributaries are quite small in size.These rivers flow in a trough or
a funnel like narrow but deep channels.

Why are rivers important for the country’s economy?

Solution:

Rivers have been of fundamental importance throughout human history. Water from the rivers is a
basic natural resource, essential for various human activities. Therefore, the riverbanks have
attracted settlers from ancient times. These settlements have now become big cities. Make a list of
cities in your state, which are located on the bank of a river. Using rivers for irrigation, navigation,
hydropower generation is of special significance — particularly to a country like India, where
agriculture is the major source of livelihood of the majority of its population.
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What are the controls affecting the climate of India?

Solution:

There are six major controls of the climate of any place. They are:
1. Latitude

2. Altitude

3. Pressure and wind system

4. Distance from the sea (continentality)

5. Ocean currents

6.Relieffeatures

Why does India have a monsoon type of climate?

Solution:

The monsoon type of climate is characterised by a distinct seasonal pattern. The weather conditions
greatly change from one season to the other. These changes are particularly noticeable in the interior parts
of the country. The coastal areas do not experience much variation in temperature though there is variation
in rainfall pattern. Four main seasons can be identified in India — the cold weather season, the hot weather
season, the advancing monsoon and the retreating monsoon with some regional variations.



Which winds account for rainfall along the Malabar coast?
Solution:
Surface winds account for rainfall along the Malabar coast.

What are Jet streams and how do they affect the climate of India?

Solution:

Jet streams are a narrow belt of high altitude (above 12,000 m) westerly winds in the troposphere. Their
speed varies from about 110 km/h in summer to about 184 km/h in winter. A number of separate jet
streams have been identified. The most constant are the mid-latitude and the sub tropical jet stream.

Over India, these jet streams blow south of the Himalayas, all through the year except in summer. The
western cyclonic disturbances experienced in the north and northwestern parts of the country are brought
in by this westerly flow. In summer, the subtropical westerly jet stream moves north of the Himalayas with
the apparent movement of the sun. An easterly jet stream, called the tropical easterly jet stream blows over
peninsular India, approximately over 14°N during the summer months.

Define monsoons. What do you understand by “breaks” in monsoon?

Solution:

The seasonal reversal in wind direction during a yeat is called monsoon.Monsoon tends to have ‘breaks’ in
rainfall; which means that there are wet and dry spells in between .The monsoon rains take place only for a
few days at a time and then come the rainless intervals.

Why is the monsoon considered a unifying bond?

Solution:

Despite great moderating influences on the climate of India, there are great variations in the temperature
conditions. Nevertheless, the unifying influence of the monsoon on the Indian subcontinent is quite
perceptible. The seasonal alteration of the wind systems and the associated weather conditions provide a
rhythmic cycle of seasons.

Why does the rainfall decrease from the east to the west in Northern India.

Solution:

The western coast and northeastern India receive over about 400 cm of rainfall annually.

However, it is less than 60 cm in western Rajasthan and adjoining parts of Gujarat, Haryana and Punjab.
Rainfall is equally low in the interior of the Deccan plateau, and east of the Sahyadris. A third area of low
precipitation is around Leh in Jammu and Kashmir. The rest of the country receives moderate rainfall.
Snowfall is restricted to the Himalayan region. Owing to the nature of monsoons, the annual rainfall is
highly variable from year to year. Variability is high in the regions of low rainfall such as parts of Rajasthan,
Gujarat and the leeward side of the Western Ghats. As such, while areas of high rainfall are liable to be
affected by floods, areas of low rainfall are drought-prone.

Give reasons as to why.

(i) The bulk of rainfall in India is concentrated over a few months.

(i) The Tamil Nadu coast receives winter rainfall.

(iii) The delta region of the eastern coast is frequently struck by cyclones.

(iv) Parts of Rajasthan, Gujarat and the leeward side of the Western Ghats are drought-prone.
Solution:

(i)The bulk of rainfall in India is concentrated over a few months

The inflow of the south-west monsoon into India brings about a total change in the weather. Early in the
season, the windward side of the Western Ghats receives very heavy rainfall, more than 250 cm. The
Deccan Plateau and parts of Madhya Pradesh also receive some amount of rain in spite of lying in the rain
shadow area. The maximum rainfall of this season is received in the north-eastern part of the country.



Mawsynram in the southern ranges of the Khasi Hills receives the highest average rainfall in the world.
Rainfall in the Ganga valley decreases from the east to the west. Rajasthan and parts of Gujarat get scanty
rainfall.

(i) The Tamil Nadu coast receives winter rainfall

A characteristic feature of the cold weather season over the northern plains is the inflow of cyclonic
disturbances from the west and the northwest. These low-pressure systems, originate over the
Mediterranean Sea and western Asia and move into India, along with the westerly flow. They cause the
much-needed winter rains over the plains and snowfall in the mountains. Although the total amount of
winter rainfall locally known as ‘mahawat’ is small, they are of immense importance for the cultivation of
‘rabi’ crops. The peninsular region does not have a welldefined cold season. There is hardly any noticeable
seasonal change in temperature pattern during winters due to the moderating influence of the sea.

(iii) The delta region of the eastern coast is frequently struck by cyclones

The low-pressure conditions, over northwestern India, get transferred to the Bay of Bengal by early
November. This shift is associated with the occurrence of cyclonic depressions, which originate over the
Andaman Sea. These cyclones generally cross the eastern coasts of India cause heavy and widespread
rain. These tropical cyclones are often very destructive. The thickly populated deltas of the Godavari, the
Krishna and the Kaveri are frequently struck by cyclones, which cause great damage to life and property.
Sometimes, these cyclones arrive at the coasts of Orissa, West Bengal and Bangladesh.

(iv) Parts of Rajasthan, Gujarat and the leeward side of the Western Ghats are drought-prone

Owing to the nature of monsoons, the annual rainfall is highly variable from year to year. Variability is high
in the regions of low rainfall such as parts of Rajasthan, Gujarat and the leeward side of the Western
Ghats. As such, while areas of high rainfall are liable to be affected by floods, areas of low rainfall are
drought-prone.

Describe the regional variations in the climatic conditions of India with the help of suitable examples.
Solution:

Despite an overall unity in the general pattern, there are perceptible regional variations in climatic
conditions within the country. The two important elements, which cause these variations, are — temperature
and precipitation.

For example, in summer, the mercury occasionally touches 50°C in some parts of the Rajasthan desert,
whereas it may be around 20°C in Pahalgam in Jammu and Kashmir. On a winter night, temperature at
Drass in Jammu and Kashmir may be as low as minus 45°C. Tiruvananthapuram, on the other hand, may
have a temperature of 20°C.

Discuss the mechanism of monsoons.

Solution:

To understand the mechanism of the monsoons, the following facts are important.

* The differential heating and cooling of land and water creates low pressure on the landmass of India while
the seas around experience comparatively high pressure.

* The shift of the position of Inter Tropical Convergence Zone (ITCZ) in summer, over the Ganga plain (this
is the equatorial trough normally positioned about 5°N of the equator — also known as the monsoon trough
during the monsoon season).

* The presence of the high-pressure area, east of Madagascar, approximately at 20°S over the Indian
Ocean. The intensity and position of this high-pressure area affects the Indian Monsoon.

* The Tibetan plateau gets intensely heated during summer, which results in strong vertical air currents and
the formation of high pressure over the plateau at about 9 km above sea level.

* The movement of the westerly jet stream to the north of the Himalayas and the presence of the tropical
easterly jet stream over the Indian peninsula during summer.

Give an account of weather conditions and characteristics of the cold season.
Solution:



The weather conditions greatly change from one season to the other. These changes are particularly
noticeable in the interior parts of the country. The coastal areas do not experience much variation in
temperature though there is variation in rainfall pattern. The cold weather season begins from mid-
November in northern India and stays till February. December and January are the coldest months in the
northern part of India. The temperature decreases from south to the north. The average temperature of
Chennai, on the eastern coast, is between 24° — 25° Celsius, while in the northern plains, it ranges
between 10° — 15° Celsius. Days are warm and nights are cold. Frost is common in the north and the
higher slopes of the Himalayas experience snowfall.

Give the characteristics and effects of the monsoon rainfall in India.

Solution:

The Monsoon, unlike the trades, are not steady winds but are pulsating in nature, affected by different
atmospheric conditions encountered by it, on its way over the warm tropical seas. The duration of the
monsoon is between 100- 120 days from early June to mid-September. Around the time of its arrival, the
normal rainfall increases suddenly and continues constantly for several days. This is known as the ‘burst’
of the monsoon, and can be distinguished from the pre-monsoon showers. The monsoon arrives at the
southern tip of the Indian peninsula generally by the first week of June. Subsequently, it divides into two —
the Arabian Sea branch and the Bay of Bengal branch. The Arabian Sea branch reaches Mumbai about
ten days later on approximately the 10th of June. This is a fairly rapid advance.

The Bay of Bengal branch also advances rapidly and arrives in Assam in the first week of June. The lofty
mountains causes the monsoon winds to deflect towards the west over the Ganga plains. By mid-June the
Arabian Sea branch of the monsoon arrives over Saurashtra-Kuchchh and the central part of the country.
The Arabian Sea and the Bay of Bengal branches of the monsoon merge over the northwestern part of the
Ganga plains. Delhi generally receives the monsoon showers from the Bay of Bengal branch by the end of
June (tentative date is 29th of June). By the first week of July, western Uttar Pradesh, Punjab, Haryana
and eastern Rajasthan experience the monsoon. By mid-July, the monsoon reaches Himachal Pradesh
and the rest of the country. Withdrawal or the retreat of the monsoon is a more gradual process. The
withdrawal of the monsoon begins in northwestern states of India by early September. By mid-October, it
withdraws completely from the northern half of the peninsula. The withdrawal from the southern half of the
peninsula is fairly rapid. By early December, the monsoon has withdrawn from the rest of the country.

The islands receive the very first monsoon showers, progressively from south to north, from the first week
of April to the first week of May. The withdrawal, takes place progressively from north to south from the first
week of December to the first week of January. By this time the rest of the country is already under the
influence of the winter monsoon.
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Define an Ecosystem.

Solution:

An ecosystem is a community of plants, animals and smaller organisms that live,feed, reproduce
and interact in the same area or environment. Some ecosystems are very large. For example, many
bird species nest in one place and feed in a completely different area . On the other hand, some



ecosystems may be physically small, such as you would find in a meadow at he edge of a forest, or
in a coral reef in the ocean.How does everything fit together in a forest ecosystem versus a
meadow ecosystem? While some species may be found naturally in both areas, the species that
live in the forest ecosystem are usually very different from those that inhabit the meadow, even
though the two environments are right next to each other. In other words, if we protect existing
natural habitats, we will help to maintain biodiversity (biodiversity is the variety of life in all its
forms, levels and combinations). Unfortunately, natural habitats and their ecosystems are more
and more endangered because of the damaging environmental effects of growing human
populations everywhere.

What factors are responsible for the distribution of plants and animals in India?

Solution:

Distribution of plants and animals on the earth is determined mainly by climate. However the other
factors are soil, relief and drainage, though most of them are also interrelated.

What is a bio-reserve? Give two examples.

Solution:

A protected area reserved for the conservation of endangered species of flora (plants) and fauna
(animals) in their natural habitat. The Sunderbans in the West Bengal and Nanda Devi in
Uttaranchal are the two examples.

Uses of Biosphere Reserve

(i) In a biosphere reserve, endangered species of animals and plants are protected.

(ii) This important heritage (of plants and animals) is transmitted to the future generations in all its
natural vigour and glory.

(iii) The surrounding areas are reserved for research work for the betterment of flora and fauna.

Name two animals having habitat in tropical and montane type of vegetation.

Solution:

The common animals found in the tropical forests are elephants and monkeys and the common
animals found in the montane forests are Kashmir stag and spotted dear.

Distinguish Between Flora and Fauna.

Solution:

Flora

The flora of a country consists of plant kingdom of that country. It covers trees in the forests, other
flowering and non-flowering frees grown by man, grassland, scrubs, fens, etc. India possesses
about 47,000 different species of plants and 5,000 of them are exclusively found in India.

Fauna

The fauna of a country consists of birds, fish and animals. It also includes amphibians, reptiles,
mammals, small insects and worms. The fauna of India is quite rich and varied. There are about
89,000 species in India.

Distinguish Between Tropical Evergreen and Deciduous Forests

Solution:

Tropical Evergreen Forests:

Evergreen forests (or Tropical Rain Forests) are found on the rainy parts of the Western Ghats and
the island groups of Lakshadweep and the Andaman and Nicobar Islands.

Ebony, mahogany and rosewood are the most important trees of the Evergreen Forests.Teak is the
most dominant species of the deciduous forests. Other trees found here are bamboos, sal,
shisham, sandalwood and khair.



Deciduous Forests:

Deciduous forests are found mostly in the eastern parts of the country — northeastern states along
the foothills of the Himalayas, Jharkhand, West Orissa and Chhattisgarh and the eastern slopes of
the Western Ghats.

Trees of the Evergreen Forests don’t shed their leaves at one and the same time, so these forests
remain evergreen.The trees of the deciduous Forests shed their leaves for about six to eight weeks
in summer.

Name different types of Vegetation found in India and describe the vegetation of high altitudes.
Solution:

The following major types of vegetation may be identified in our country:

(i) Tropical Rain Forests

(ii) Tropical Deciduous Forests

(iii) Tropical Thorn Forests and Scrubs

(iv) Montane Forests

(v) Mangrove Forests

The vegetation of high altitudes are Montane Forests. In mountainous areas, the decrease in
temperature with increasing altitude leads to the corresponding change in natural vegetation. As
such, there is a succession of natural vegetation belts in the same order as we see from the
tropical to the tundra region. The wet temperate type of forests are found between a height of 1000
and 2000 metres. Evergreen broad-leaf trees such as oaks and chestnuts predominate. Between
1500 and 3000 metres, temperate forests containing coniferous trees like pine, deodar, silver fir,
spruce and cedar, are found. These forests cover mostly the southern slopes of the Himalayas and
places having high altitude in southern and northeast India.

At higher elevations, temperate grasslands are common. At high altitudes, generally more than
3,600 metres above sea level, temperate forests and grasslands give way to the Alpine vegetation.
Silver fir, junipers, pines and birches are the common trees of these forests. However, they get
progressively stunted as they approach the snow-line. Ultimately through shrubs and scrubs, they
merge into the Alpine grasslands. These are used extensively for grazing by nomadic tribes like the
Gujjars and the Bakarwals. At higher altitudes, mosses and lichens form part of tundra vegetation.
The common animals found in these forests are Kashmir stag, spotted dear, wild sheep, jack
rabbit, Tibetan antelope, yak, snow leopard, squirrels, Shaggy horn wild ibex, bear and rare red
panda, sheep and goats with thick hair.

Quite a few species of plants and animals are endangered in India. Why?

Solution:

Quite a few animal species are endangered and some have become extinct. The main causes for
this major threat to nature are hunting by greedy hunters for commercial purposes, pollution due to
chemical and industrial waste, acid deposits, introduction of alien species and reckless cutting of
the forests to bring land under cultivation and inhabitation, which are also responsible for the
imbalance.

Why has India a rich heritage of flora and fauna?

Solution:

Our country India is one of the twelve-mega bio-diversity countries of the world. With about 47,000
plant species India occupies tenth place in the world and fourth in Asia in plant diversity. There are
about 15,000 flowering plants in India, which account for 6 per cent in the world’s total number of
flowering plants. The country has many non-flowering plants such as ferns, algae and fungi. India
also as 89,000 species of animals as well as a rich variety of fish in its fresh and marine waters.
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Why is the rate of population growth in India declining since 19817

Solution:

Since 1981, however, the rate of growth started declining gradually. During this period, birth rates declined
rapidly. Still 182 million people were added to the total population in the 1990s alone.

Discuss the major components of population growth.
Solution:
There are three main components of population growth are birth rates, death rates and migration.

Define age structure, death rate and birth rate.

Solution:

Birth rate is the number of live births per thousand persons in a year. It is a major component of growth
because in India, birth rates have always been higher than death rates.

Death rate is the number of deaths per thousand persons in a year.

The age composition of a population refers to the number of people in different age groups in a country.

How is migration a determinant factor of population change?

Solution:

Migration is the movement of people across regions and territories. Migration can be internal (within the
country) or international (between the countries). Internal migration does not change the size of the
population, but influences the distribution of population within the nation. Migration plays a very significant
role in changing the composition and distribution of population.

Distinguish between population growth and population change.

Solution:

Population growth

Growth of population refers to the change in the number of inhabitants of a country/territory during a
specific period of time, say during the last ten years. Such a change can be expressed in two ways: in
terms of absolute numbers and in terms of percentage change per year.

Population change

There are three main processes of change of population: birth rates, death rates and migration.The natural
increase of population is the difference between birth rates and death rates.Birth rate is the number of live
births per thousand persons in a year.Death rate is the number of deaths per thousand persons in a year.
The third component of population growth is migration. Migration is the movement of people across regions
and territories. Migration can be internal (within the country) or international (between the countries).
Internal migration does not change the size of the population, but influences the distribution of population
within the nation. Migration plays a very significant role in changing the composition and distribution of
population



What is the relation between occupational structure and development?

Solution:

The percentage of population that is economically active is an important index of development. The
distribution of the population according to different types of occupation is referred to as the occupational
structure. An enormous variety of occupations are found in any country The proportion of people working in
different activities varies in developed and developing countries. Developed nations have a high proportion
of people in secondary, and tertiary activities. Developing countries tend to have a higher proportion of
their workforce engaged in primary activities. In India, about64 per cent of the population is engaged only
in agriculture. The proportion of population dependent on secondary and tertiary sectors is about 13 and 20
per cent respectively. There has been an occupational shift in favour of secondary and tertiary sectors
because of growing industrialisation and urbanisation in recent times.

What are the advantages of having a healthy population?

Solution:

Health is an important component of population composition, which affects the process of development.
Sustained efforts of government programmes have registered significant improvements in the health
conditions of the Indian population. Death rates have declined from 25 per 1000 population in 1951 to 8.1
per 1000 in 2001 and life expectancy at birth has increased from 36.7 years in 1951 to 64.6 years in 2001.
The substantial improvement is the result of many factors including improvement in public health,
prevention of infectious diseases and application of modern medical practices in diagnosis and treatment
of ailments. Despite considerable achievements, the health situation is a matter of major concern for India.
The per capita calorie consumption is much below the recommended levels and malnutrition afflicts a large
percentage of our population. Safe drinking water and basic sanitation amenities are available to only one
third of the rural population. These problems need to be tackled through an appropriate population policy.

What are the significant features of the National Population Policy 20007

Solution:

The significant features of the National Population Policy 2000 are:

1. NPP 2000 identified adolescents as one of the major sections of the population that need greater
attention.

2. Besides nutritional requirements, the policy put greater emphasis on other important needs of
adolescents including protection from unwanted pregnancies and sexually transmitted diseases (STD).

3. It called for programmes that aim towards encouraging delayed marriage and child-bearing, education of
adolescents about the risks of unprotected sex, making contraceptive services accessible and affordable,
providing food supplements, nutritional services, strengthening legal measures to prevent child marriage.



